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Question (1):  (10 Marks) 

Using the double integration method, determine the 

deflection at b, the slope at section just to the left of b, 

and sketch the elastic curve of the beam.  

EI = 6×10
5
 kN.m

2
 

 

Solution: 
- First, determine the reactions as shown. 

- Note that all the required (yb and 

y’bleft) are in the region a-b and no 

reaction comes form part b-c to part 

a-b, so only part a-b should be 

studied. 
 

For region a-b 
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Boundary Conditions: 

  At x = 0, y' = 0    C1 = 0 

  At x = 0, y  = 0    C2 = 0         

So, the general equation of the deflection y and slope y' () at any distance x is,  
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The deflection at b is at x = 6 m  

              23 )6(600)6(
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100
bEI = -14400 

                  b = -14400/600000 = -0.024 m      b = 24 mm ↓  

 

The slope at section just to the left of b  is at x = 6 m  

)6(1200)6(100 2' EIy = -3600 

b = -3600/600000 = -0.006 rad      b = 0.344
o
   
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Question (2):  (10 Marks) 

For the shown beam, using the moment-area method, determine: 

(a) The slope at a 

(b) The deflection at b 

(c) The deflection at d 

   and sketch the elastic curve of the beam.  

 EI = 60 MN.m
2
 

 
Solution: 

 
The bending moment diagram may be drawn as shown. 

 

(a) The slope at a 
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       Apply the second moment-area theorem, then 
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(b) The deflection at b 

The deflection at b =b = bbbb   = (3/8) tc/a – tb/a 

          Applying the second moment-area theorem, then 
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b = bbbb   = (3/8) tc/a – tb/a = (3/8)( 0.09336) – 0.0069375 = 0.0280725 m    b = 28.1 mm ↓                      

 
(c) The deflection at d 
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d = dddd   = td/a – (10/8) tc/a = 0.1379167 – (10/8)( 0.09336) = 0.021217 m    d = 21.2 mm ↑                      
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